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11TH MATHS

CHAPTER:1
COMPLEX NUMBERS £*#=

EXERCISE: 1.2

QUESTION:1-3 |

Equality of two complex numbers
The two complex numbers z; = a + bi and z, = ¢ + di are said to be equal
iff their real and imaginary parts are equal

iie,at+bi=c+dieoa=candb =d.

Square root of a complex number
The square root of a complex number is another complex number that,

when squared give the original complex number.

Z,L{qp ./?= Y~ L

Quick Notes Page 1


https://www.youtube.com/@MathwayAcademy
http://www.RanaMaths.com
http://www.RanaMaths.com
http://www.RanaMaths.com

Exercise 1.2

1. Find the values of x and y in each of the following:
(i) x+iy+2-3i=i(5-i)(3+4i)
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2. Ifzy = —13 + 24i and z, = x + yi, find the values of x and y such z; — z, = —27 + 15i
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8. Find the square root of 13 — 20+/3i and represent them on an argand diagram.
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8. Find the square root of 13 — 20+/3i and represent them on an argand dia
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11. Find the values of u and v if:
(i) (u+iv)?2=20 +i1i
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